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The Ashes Mi Method of Splitting the (The Jewelz Set)
"One" Where "1" is Pi and Pi is Wave

(As an Atom)

e JusSe i Sl LA i + HJ!'.;?E!‘_.;;_.I"
Ba e I b h (ULt ) L=t (ML) 1) {HL )
B = o oomn 7, i \ y -
1 v_ 0
Famiis G
.

+ HL
g Ll A g ]_'.an. rL'*-z”L -LT]_'J'zl
0y |7 i YT k b T
0 2 2 7 ((T'-—T—‘)—-:)-‘J (2 g ‘)2
= | TadT-2 L

((T'.=T—;}a‘.} )

2

5 : 4 A
2_ 5\ A = Total Physical Wave Sequences SA= (T A= T— ) S—

3. L A.r = Total Low Wave Potentual |3 =7

4. H‘}\' = Total High Physical Wave H\'"'~=(T‘}'_ L;“‘)z M\m

U L H (T a-2 B

T
A Tim=]=1]-%
5. L) = Total Low Physical Wave L'a =T-Ha (2(( : ) ))2

H'a-(H" ZE(H -HT)_:]H; H (" -H_]_'J
o HoaH ¥ H-2 )2
6. L\ f = Total Low Physical Frequency L =k % -‘“H - ‘;[“H 2= ],.2
< % X B i PR i ( i AT PR i

7. H f = Total High Physical Frequency H f=(Lf)2 flub-ti-) i i fre-¥id s

(The Jewelz Set)
Example Problem

(L)1) (e o T i
Problem a. Ta-(T-2 2 (T%-2 )2 (String Fraction)
Convert Number 17 to a (Physical Wave / Frequency Bit Set) T\}'( T‘)"I_' = - _|_ _
Se=sTi e .i=h A
. . . B . L'a H. ((T"l_ ) ) l) g ((T 2 ) l) " Total Waves
L I R N T 2 e I ‘
\ﬂ.' L'f Hf Low Wave / Frequency l High Wave [ Frequency
Keep breaking (Total Physical Wave) in half until you reach 1. s ) = Total sequences of physical waves tothe Low Wave Bit Set H lli ’
S S 0 1
sm(Ta=Bt)—1
3 . 17 1 3 . i o i 1 i 17 113 14 6 17
i e v T sEvEvEvEvEvE TRy LT
- o ATYATYATAYAYA 1 2
i s T T v 3
. " o 52 r 7
ne(=f)=1  OoAAnfaNa 192
#1m(22m22 ) =1 ar (The Jewelz Set) 2 3 3
sam (1= d2 )= - (As a Field Harmonic)
;“Ll -1 1:E[LL ) }:1 ‘,"Hl “2- ;SIHL i ‘-; F“‘H g \2(“'” i >n :(HH A=) |:s[HH -l?_:’n
((La=E2 }=1)» Liskt}=1) ; ((HisLt)=1) > (T £ WY
L*-(L*%- 2( : } ])2 + H(L‘}.'E(( ? ) )}2 9 LH-H.'(H“‘.' 2I: g ] })2 + H(H‘;._-2(( ? } 1)}2 :
Cehs - g Ik )l (# )
Y=t =) =i B il (2 2
([ra=5)=1) ((ra=)=1)

LT‘A-(T‘)L-Z )2
Z((Tf.ﬁf)ﬂ)-x z((n;%)ﬁl),;_




The 3 Systems of Science

Solid Science Development (SSD)

The Science of Engineers and Doctors.
This Is Life and Death'Science.
It makes sure Bridges don't collapse and Patients don't suffer or die.

This is what keeps us out of the Dark Ages and is not about Hocus Pocus Mumbo jumbo.

It is about Fact, it's Real and it can be Repeated.
You can bet your life on it.

This science is in the Envelope, Signed, Sealed and Delivered....These are the Black Swan Scientists.

Gummy Science Development (GSD)

The Science of Research and Development.

Where failure Is not wanted but Expected.

From mistakes come learning and improvement's.

Pushes over new ideas to find weakness or improvement.

Pushes science to the edge of the envelope from Fiction to Fact.

You may 'not' want to bet your life on it...These are the Grey Swan Scientists.

Liquid Science Development (LSD)

The Science of Fiction, Intelligence, Imagination, Creativity.

Complete open mindedness and free to challenge Anything in Modern Day Science.

All accepted ideas in today's science are not only challenged,

sometimes they are completely ignhored or replaced with different thinking.
This pushes science out of the envelope and explores new

possibilities by helping the new ideas to walk.

But don't bet your life on it...These are the White Swan Scientists.

All 3 sciences are needed, but the LSD is gone!

Science NEEDS LSD!

COLD SsD

HOT SSD

HOT GSD

COLD GSD

HOT LSD COLD LSD

Fractal Binary Describes String Theory where all numbers come from Pi this is Gummy LSD, so be careful in playing with it.
The reason Pi kept creeping up in all pyhsics, biology, chemistry and the such is because science was counting wrong.

Numbers must be ballanced to 1 before calcuations in much of science.



(Counting with String Fractions)
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The 1 Plus Table

(The Mi Wave)
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(The Mi Wave)
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Example Problem
+3%: 16+
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Deffinition of symbols

T *2 = The Number we want to Convert
d to a Wave / Frequency Bit Set

5\)\, = Total Physical Wave Sequences

L }L’ = Total Low Wave Potentual

" H\)\, = Total High Physical Wave
5 L‘l = Total Low Physical Wave

L\ f = Total Low Physical Frequency

H\ f = Total High Physical Frequency
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Example Solution

Step 1. Physical Number is equal to physical wave

9T‘7r = 9‘1
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Step 2. Keep breaking (Total Physical Wave) in half until you reach 1. s'. = Total sequences of physical waves to the Low Wave Bit Set.
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Step 4. Find the (Total High Physical Wave) = H % = (T *A- L X")2
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L LI 170 If High Physical Wave = 0, then Low Wave Potentual becomes High
R Physical Wave and Low Physical Wave Becomes 0.



Step 5. Find the (Total Low Physical Wave) = |*) =T 3 - H'A
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Step 6. Find the (Total Low Physical Frequency) = L‘ f= L h’
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Step 8. Fill up Physical High Low Wave [ Frequency
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Solution

Our Physical Wave Bit Set is Now Generated from the Number 9. Our Wave | Frequency Bit Set 9 is converted to
7 Low Waves over 8 Low Frequency in the Low Range and 2 High Waves over 16 Frequency in the High Range.



Splitting the Pi

(The Mi Wave)
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Deffinition of symbols

(The Jewelz Set)
(As an Atom)
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